Unit 1 Midterm Exam Re-Teach 2016 Name: ﬁe(ﬁ

Directions: Use the Pythagorean Theorem or Distance Formula to find the distance of each
segment, and then find the midpoint of each segment and slope. You must simplify radicals and
fractions!!!! You must show all work for each problem.
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Directions: Answer each question. Show your work and reasoning.
3. Find x and the measure of /K if K is the midpoint of /L. You must start this problem with a
geometry step. Show all of your work.
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4. Find the value of x and SR if R is between S and T'. SR = 3x, RT=2x+ 1, ST =6x — 1. Draw,
mark, and label your figure. You must start this problem with a geometry step. Show all of your

work.
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5. BA and DE bisect each other and intersect at point C. If BC=10x -5, AC=6x+ 3, DC = 2y —
11 and EC =y + 3, find x, y, and the lengths of DE and AB.
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6. A ladder is |0 ft long and reaches ‘3_( feet up a wall, as shown in the picture. How many feet is

the bottom of the base of the wall? 1 Z 1—
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7. Find x.
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Directions: Fill in the blanks based on the figure presented.
8. The composite of reflections over two parallel

lines results in a _YONS|aH0ON . ----- A

From 1 to 2 the transformation performed is : Cef \Pd\‘(){\

: . : 1 3
From 2 to 3 the transformation performed is : rellection 2
From 1 to 3 the transformation performed is : M\a*i v
9. The composite of reflections over two intersecting lines results in a/Q\O'\"a/\’\O(\)
This is a composite of transformations. 1 A 5

From 1 to 2 the transformation performed is : r{’p (ﬂ( Jnm/

From 2 to 3 the transformation performed is : rﬁ# (o Chons

' N
From 1 to 3 the transformation performed is : ‘|2\0+a/h o

Directions: Perform the given transformations.
10. What will the coordinates of each point be of your image giving the
transformation (x,y) = (x — 5, y — 2).
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11. Draw the line of reflection.

12. Reflect over the x-axis.
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13. Rotate 90° clockwise around the origin.
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14. Rotate 90° counterclockwise around the origin
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15. Sketch the lines of symmetry for each of the figures below.
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Unit 1 Midterm Exam Re-Teach 2016 Name:

Directions: Use the Pythagorean Theorem or Distance Formula to find the distance of each
segment, and then find the midpoint of each segment and slope. You must simplify radicals and
fractions!!!! You must show all work for each problem.
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Directions: Answer each question. Show your work and reasoning.
3. Find x and the measure of JK if K is the midpoint of JL. You must start this problem with a

geometry step. Show all of your work.
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4. Find the value of x and SR if R is between S and 7. SR =3x, RT'=2x+ 1, ST =6x — 1. Draw,
mark, and label your figure. You must start this problem with a geometry step. Show all of your
work.

5. BA and DE bisect each other and intersect at point C. If BC= 10x — 5, AC=6x+ 3, DC = 2y —
11 and EC =y + 3, find %, y, and the lengths of DE and AB.
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6. A ladder is 10ft long and reaches T feet up a wall, as shown in the picture. How many feet is
the bottom of the base of the wall?
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Directions: Fill in the blanks based on the figure presented.
8. The composite of reflections over two parallel
lines results in a

From 1 to 2 the transformation performed is :

From 2 to 3 the transformation performed is : 2

From 1 to 3 the transformation performed is :

9. The composite of reflections over two intersecting lines results in a

This is a composite of transformations. 1

From 1 to 2 the transformation performed is :

From 2 to 3 the transformation performed is :

From 1 to 3 the transformation performed is :

Directions: Perform the given transformations.
10. What will the coordinates of each point be of your image giving the
transformation (x,y) = (x — 5, y — 2).
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11. Draw the line of reflection. 12. Reflect over the x-axis.
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13. Rotate 90° clockwise around the origin. 14. Rotate 90° counterclockwise around the origin.
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15. Sketch the lines of symmetry for each of the figures below.
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